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#include <iostream>
using namespace std;
double power (double x, int n);
void main ()
{ cout<<”5 to the power 2 is
<<power (b, 2) <Lendl;
}

double power (double x, int n)
{ double val=1.0;
while (n—) val=val*x:
return(val) ;

J

”
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#include <iostream>
using namespace std;
double power (double x, int n);
¥oid main ()
int 1;
int value = 0;
char ch;
cout << “Enter an 8 bit binary number
Eor (i=7-0i =0 1)
¢in >> ch’

if (ch == "1

value += int (power (2, 1)) ;

}

cout <<{"Decimal value is ”“<<value<<endl:

J

double power (double x, int n)

{
_ i BATE R
dot.lble val = 1.0; Enter an 8 bit binary number
while(n—) val*=x; 01101001
return(val) ; Decimal value is 105

}
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#include<iostream>
using namespace std;
void main()
{
double a, b:
double arctan(double x);//BA%JR %Y 5= BH
a=16. O*%arctan(1/5.0) :
b=4. 0*arctan(1/239.0) ;
[ER: B BEZUHEBR 45 REVEE,

//IBRSHE1/5, 1/239, 45RMEZO0
cout<<”PI="<<a-b<<endl:




double arctan(double x)
{ int 1i:
double 1, e, f, s;
r=0;e=x;1=1;s=1;
while(e/i>1e—15)

{
f=e/1;
r+=1;
e=eXx*Xx;
=2
S=—S;
} BATE R

}xeturn r; PI=3. 14159

11
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#include <iostream>

using namespace std;
void main ()

{

bool symm(long n);
long m;
for (m=11; m<1000; mt++)
if (symm(m)&&symm (m*m) &&symm (m*km*m) )
cout<<"m="<<m<<” m¥m="<<m*m
<" m¥m*m=" <<m*km*m<<end]l;




bool symm(long n)

{

long i, m;

i=n ; m=0 ;

while (i)

{
m=m*10+1%10;
i=i/10;

}

return( m==n ) :




BATE R

m=11 m*m=121 m*m*m=1331
m=101 m*m=10201 m*m*m=1030301
m=111 m*m=12321 m¥*m*m=1367631
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#include <iostream»
#include<cmath>
using namespace std;
void main ()
{
double k, 1, s;
double tsin(double x);
cout<"r=";
cin>>r;
cout<<"s=";
cin»>>s;
if (r*r<=s*s)
k=sqrt (tsin(r) *tsin(r)+tsin(s)*tsin(s)):
else
k=tsin(r*s)/2;
cout<<k<<endl;




double tsin(double x)
{
double p=0. 000001, g=0, t=x;
int n=1;
do {
g=gtt;
Ik
t=—t*x*x/ (2*%n-1) / (2*n-2) ;

}while (fabs (t) >=p) ; .
return g; 1EATSE B

} r=>5
S=8

Lo sl
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#include <iostream>

#include <cstdlib>

using namespace std;

int rolldice(void) :

void main()

{
int gamestatus, sum, mypoint;
unsigned seed;

cout<<”Please enter an unsigned integer:”;

cind>>seed: / /S NFENLE P F
srand (seed) ; / /M FFEiE %S rand ()
sum=rolldice() ; //FE—8IHEK T FE ML




switch (sum)

{

case 7: //INERFMEFATEIIN A, REA1

case 11: gamestatus=1; break;

case 2: //FME K2, 38120k 7, IREH2

case 3J:

case 12: gamestatus=2; break;

default:

[/ HARIELL, WEAR M TG R, RE& R0, 18 T 3, T —R &

gamestatus=0;
mypoint=sum;
cout<<”point is "<<mypoint<<endl:
break;




while (gamestatus==0) //REREVA 0, BidkL#HIT T —%
{

sum=rolldice() ;

if (sum==mypoint) //FEHMIFEET SLMEH, REE N
gamestatus=1

else if (sum==7) //HILFZ AT A7, REE A2

gamestatus=2;

}
// 2R AOBT _ETH BFIPEEA G5 2R, LUR A2 7 B i Rk 46 R
if ( gamestatus==1 )
cout<<”player wins\n”;
else
cout<<”player loses\n”;




rand
PREAM . int rand (void);
P Sk 30 #:: <cstdlib>
DhRe IR A : K H FFR Al — MO BEALEL, 112 K/ D int
TP

srand
PRE Y. void srand(unsigned int seed):
ZH: seed RN, 1N At ime (NULL) .
P 0. <ctime>
Dige: Mfdirand O r=4— @4 O BEALAEE M 5 B 46 A
A 1/E N seedZ=4, v LAFE Hi#]4brand () .




int rolldice(void)

{ /88T WHEME. A
int diel, die2, worksum;
diel=1+rand () %6;
die2=1+rand () %6;

worksum=diel+die2;

cout<<”player rolled
7<Kdiel<< + <<Kdie2<< = <Kworksum<<endl:

return worksum:




BT 4 R 2:

Please enter an unsigned integer:23
player rolled 6+3=9

point 1s 9

player rolled 5+4=9

player wins
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#include <iostream>
using namespace std;
void main ()

{

int a,b;
int funl (int x, int y);
cin>>a>>b:

cout<<”a. bFJ¥EHFH: ”~ "
<{<funl (a, b) <<end1; »

*x

28




int funl (int x, int v)

{
int fun2(int m);
! return (fun2(x)+fun2(y)) :

%nt fun2 (int m)

return (m*m) :

R:
A 25
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#include <iostream>

using namespace std;
long fac(int n)
{ long f;
if (n<0)
cout<<”"n<0, data error!”<<endl;
else if (n==0) f=1;:
else f=fac (n—1)*n;
return (f) ;




void main ()
{
long fac(int n);
int n;
long y;
cout<<”Enter a positive integer:”;
cin>>n;
y=fac (n) ;
cout<<n<<”1="<<y<<endl;

J

BATE R
Enter a positive integer:S8
81=40320
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#include<iostream>
using namespace std;
void main()

{ int n, k;
int comm(int n, int k):
cin>>n>>k;
cout<<comm (n, k) <<end1;

}

int comm(int n, int k)

{ if (k>n) return O; BT 45!
else if ( n==k| |k==0 ) 18 5

return 1; 8068

else

return comm(n—1, k)+comm(n—1, k-1) ;
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#include <iostream>
using namespace std;
void move (char getone, char putone)
{ cout<{<getone<<”——>"<<putone<<endl; }
void hanoi (int n, char one, char two, char three)
{ void move (char getone, char putone) ;
if (n==1) move (one, three):
else
{ hanoi (n—1, one, three, two) :

move (one, three) :

hanoi (n—1, two, one, three) ;




void main()

{

void hanoi (int n, char one, char two, char three) :
int m;
cout<{<”Enter the number of diskes:”;

cin>>m;

cout<<”the steps to moving “<<m
<<” diskes:”<<endl;

hanoi(m,”A”,’B’,’C):




BATS R -

Enter the number of diskes:3
the steps to moving 3 diskes:
A—>C

A—>B

C—>B

A—>C

B—>A

B—>C

A—>C




ER 2 89 S~ 2 T 2L P
Tri 5218

£ R HOR A i 4 0 B TE 2 I A7 i BT
EZA LREE. REHRKREN

KRN E TGS HF
fRig i 2B S HUE, B 1EiE.




ER 2 59 S 2 TR 2 U5
— S MTE T D)

FIF KA D = power (A, 3)

A

X

I BRI
double power (double X, int Nk X
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#include<iostream>
using namespace std;
void Swap(int a, int b);
void main ()

{

1= int X(5), Y(lo);
cout<<"x="<<x<K” y="<<Ly<<endl;

Swap (%, ¥) ;
cout<<”x="<<x<K” y="<<y<<endl;

) x
*

TEh&ER

43




void Swap(int a, int b)

{

int t;
t=a;
a=b:
b=t ;
}
BATE R
X=9
X=9

y:

Y_.

10
10
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Swap (%, ¥) ;

S

{ESwap - A ELH
t=a;
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int &ri=i;

[/ — AN int B g Hri, R H

| 10//’?Bﬁﬁ‘4%_ﬁﬂﬂ§iiﬁﬁé/l\%lﬁ%

=1\,

ri=j;//MHAT i=j;

B EH—AN5 B, DR E R E TR,
e — 1 EFERNS.
—B—/5 | H#EvImiE, ARSI H
,_E:Xil‘%o * *
5| A LAME A TS
void swap(int& a, int& b) {...} x
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#include<iostream>

using namespace std;

void Swap(int& a, int& b);

void main()

{ int x(5), y(10);
cout<<"x="<<{x<<” y="<<y<<endl;

Swap (%, ¥) ;
cout<< x="<<{x<K” y="<<y<<endl;

}
void Swap(int& a, int& b)
{ int t;

t=a;

a=b;

b=t;




Swap (X, v) ;

BIES xH) ) 44
a o
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JN #include<iostream>

using namespace std;

inline double CalArea(double radius)
HXR { return 3. 14*radius*radius:

}

& zoid main ()

double r(3.0):

3 double area:

= area=CalArea(r) :
cout<Karea<<endl:

51
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B4
int add(int x=5, int y=6)
{ return x+vy; }
void main ()
{ add (10, 20) ;//10+20
add(10);  //10+6

add () ; //5+6

1
J
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Bl

int add(int x, int y=b, int z=6) ://1FHf

int add(int x=1, int y=b, int z) ://%1~

int add(int x=1, int vy, int z=6) ;//%Eti%* *
x
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#include<iostream>

using namespace std;

int add(int x=5,int y=6);

void main()

{ cout<<add()<<endl;
/38 A #E SR AT

}

int add(int x,int y)

{ return x+y; }

#include<iostream>

using namespace std;

int add(int x=5,int y=6)

{ return x+ty; }

void main()

{ cout<<add()<<endl; e
A RERNRIE

} x
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int add(int x=1, int y=2):

void main ()

{ int add(int x=3, int y=4);
add () ; //fH R EOAE S E (SKE3+4)

!

void fun()

* %
add () ; //fHERFOANESE (SLEL1+2)

j
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int add(int x, int y) ;
float add(float x, float y):

int add(int x, int vy);
int add(int x, int y, int z):




SE R BT

B BB ITE S AR AR KT A
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int add(int x, int v): int add(int x, int y);

int add(int a, int X) void add(int x, int y);
IR ALITES 2k X sy WA A BUREHEDR X 53
AN AR D RE N BR 2= W o ek £, DA A B A
R IR TR -

int add(int x,int y) i float add(float x, float y)

{ return xty; } . { return x—v: |}
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#include<iostream>
=2 using namespace std;

struct complex
2K {

double real:
double imaginary;
x

b




void main ()
{
int m, n;
double x, v;
complex cl, c2, c3;
int add(int m, int n);
double add(double x, double y);
complex add(complex cl, complex c2);
cout<<{”Enter two integer: ”;

cin>>m>on;

cout<<”integer
<m<< + <<n<”="<<add (m, n) <<end];




cout<<”Enter two real number: ”
cin>>x>>y;

cout<<”real number ”<<{x<<"+'<<y<<”= "<Kadd(x, v)<<endl;
cout<<”Enter the first complex number: ”;
cin>>cl.real>>cl. imaginary;

”

cout<<”Enter the second complex number: ”;

cin>>c2. real>>c2. imaginary;

c3=add(cl, c2) ;

cout<<”complex number ("<<cl.real<<",
{Lcl. imaginary <<”)+("<<c2.real<<",
<£c2. imaginary<<”)=("<<c3. real<<",
<<c3. imaginary<<”)\n”;




int add(int m, int n)
{ return m+n: }

double add(double x, double y)

{ return xty; }

complex add(complex cl, complex c2)
{
complex c;
c. real=cl. real+c2. real;
c. imaginary=cl. imaginary+c2. imaginary;

return c;




BATE R

Enter two integer: 3 5

integer 3+5=8

Enter two real number: 2.3 5.8

real number 2.3+5.8= 8.1

Enter the first complex number: 12.3 45.6

Enter the second complex number: 56.7 67.8
complex number (12.3,45.6)+(56.7,67.8)= (69, 113. 4)
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. math.h 3¢ cmath
x
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#include<iostream>
#include<math) BATE R

using namespace std;

30

. sin(30)=0.5
const double pi (3. 14159265) ; cos(30)=0.866025

void main() tan(30)=0.57735

{

double a, b;

cin>>a;

b=a*pi/180;

cout<<”sin ("<<a<<”)="<<sin(b) <<endl;
cout<<"cos ("<<a<<{”)="<<cos (b) <<endl;
cout<<”tan ("<<a<<”)="<<tan(b) <<endl:
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